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( w[0] a[0]  +  w[1] a[1]  +  w[2] a[2]  +  w[3] a[3]  +  w[4] a[4]  +  w[5] a[5]  +  w[6] a[6]  +  w[7] a[7] )

( w[0] a[0]  +  w[2] a[2]  +  w[4] a[4]  +  w[6] a[6] ) ( w[1] a[1]  +  w[3] a[3]  +  w[5] a[5]  +  w[7] a[7] )

( w[1] a[1]  +  w[5] a[5] ) ( w[2] a[2]  +  w[6] a[6] ) ( w[3] a[3]  +  w[7] a[7] )( w[0] a[0]  +  w[4] a[4] ) * w[2] * (-1)

* (-1)

* (-w[2])
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See 8-point FFT taking the patterns of angle into account
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Spectrum of 5kHz

Spectrum of 3kHz + + +

Spectrum of 7kHz ( w[1] a[1]  +  w[5] a[5] ) ( w[2] a[2]  +  w[6] a[6] ) ( w[3] a[3]  +  w[7] a[7] )( w[0] a[0]  +  w[4] a[4] ) * w[2]* (-1)* (-w[2])+ + +

remember synmetry of vectors
like w[5] = -w[1]

Since it has the same direction as 1kH z at a[0], a[4]

Since leading by w[2] to 1kHz at a [1], a[5]

Since it has opposite direction to 1kHz at a[2], a[6]

Since lagging by w[2] to 1kHz at a[3], a[7]

Since it has the same direction as 1kH z at a[0], a[4] Since it has opposite direction to 1kHz at a[2], a[6]

Since lagging by w[2] to 1kHz at a[1], a[5] Since leading by w[2] to 1kHz at a [3], a[7]

Since it has the same direction as 1kHz at a[0], a[2], a[4], a[6] Since it has opposite direction to 1kHz at a[1], a[ 3], a[5], a[7]

-

* w[0] * w[2] w[0] equals to  1 (  1 + j 0 )

c[1] c[5] c[3] c[7]c[n] is spectrum of n [kHz]

The constructure of FFT
taking the patterns of angle into  account

(for 1, 3, 5, 7kHz)
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insight to FFT by Toshio Iwata
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